Math 110, Intermediate Algebra
FINAL REVIEW #1
Solve for x.  (Where appropriate, write your answer in interval notation.)
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Solve each system of equations using the method of your choice.
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Perform the following operations and simplify:
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21.  (7 + 8i) – (–3 – 6i)

22.  
[image: image21.wmf](

)

2

4

i

-








23.  
[image: image22.wmf](

)

(

)

x

x

5

3

2

4

+

-


24.  
[image: image23.wmf]5

log

20

log

2

2

-







25.  
[image: image24.wmf](

)

(

)

22

22

xyxy

-+


26.  
[image: image25.wmf]33

7(33)

xx

--+







27.  
[image: image26.wmf](

)

(

)

2

20646

yyy

-+¸-


28.  
[image: image27.wmf]233

1239

3

mnmnmn

mn

--

-






29.  
[image: image28.wmf]y

y

27

25

5

3

3

×


30.  
[image: image29.wmf]37

abab

+-

+







31.  
[image: image30.wmf]1510

5102

aa

-

++


Perform the following operations and simplify:
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Simplify the following:
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Find the Domain and Range for each function below
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41.    g(x) = 3x + 5
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43.    
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45.  
The function C(t) = 645t + 9800 can be used to estimate the average cost of tuition at 
a state university t years after 1997.  

a. What is C(3)?  And what does it represent?

b. When will tuition be $15,605?

Given 
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46.  Find f(–3)


 47.  g(–2)


48.  h
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50.  g(–2) + h(–1)

51.  h(a + 3)

Factor completely:    
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55.  Find the equation of the line passing through (–3, 1) and (2, 5).
Graph the following functions or equations. 
56.  
[image: image51.wmf]4

2

)

(

+

-

=

x

x

f





57.     x – 2y = 10
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Name the slope.



Name the slope. 


Name the vertex. 
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Name the vertex. 


Name the center and radius                Name the center and radius
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( GOOD LUCK ON YOUR FINAL EXAM!  (
Final Review #1—ANSWERS
1. x = 27

2. x = 9, x = –6

3. x = 7

4. 
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6. x = 1

7. x = 3, x = –3
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9. x = 3

10. x = –1

11. x = ln 7 – 1
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17. (–1, –3)

18. same lines! 
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45. a) C(3) = $11,735 represents average tuition in 2000.    b) 2006

46. undefined

47. –4
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56. m = –2

57.
m = 1/2

58.
vertex (2, 5)




59.
vertex (7, 0 )

60.
 center (0, 0), r = 
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61.  
center (2, –3), r = 4

62.
ellipse:  a = 2, b = 5



63.
hyperbola along x-axis: a = 4, b = 6

64.
hyperbola along y-axis: a = 3, b = 5
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